2011-005-5264.Pioneer.Bid Tab.LB

PROJECT: PIONEER ROAD MCIP PROJECT 21902 LIMITS: BELT LINE ROAD TO CARTWRIGHT ROAD

PROJECT MANAGER: JOHN L. MEARS, P.E.

BID: #2011-005-5264 DATE: 11/18/2010

BID TAB

10 10 10 10 10 10 10 10		TISEO PAVING CO.			LACY CONSTRUCTION		ED BELL CONSTRUCTION		REBCON INC.		AUSTIN BRIDGE & ROAD		OMEGA CONSTRUCTION	
SPECIAL FLAVORS DAMAGE TIMES (INC. PARTY OF CLIRROY) ST.		QUANTITY UNI												
The PROPERTY PARTY INCLUDENCY TAX		OAD TO CAPTA		******	***********	********	********	********	**************	**************	* ************	*************	************	*************
The property of the property	SCHEDULE IT AVING & DRAINAGE HEMS (MCRENZIE R	OAD TO CARTW	KIGITI KOAD)											
Description Confession Security Securi	100 PREPARING RIGHT OF WAY STA	96	\$1,045.00	\$100,320.00	\$5,600.00	\$537,600.00	\$5,100.00	\$489,600.00	\$950.00	\$91,200.00	\$5,000.00	\$480,000.00	\$1,200.00	\$115,200.00
West Exercised Content Section	104 REMOVING CONCRETE - PVMT INC.CURB/DVY SY	8,000	\$4.15	\$33,200.00	\$4.04	\$32,320.00	\$4.00	\$32,000.00	\$4.00	\$32,000.00	\$4.25	\$34,000.00	\$7.00	\$56,000.00
Designation of the Company of the														
100 100														
SHEARWAY RESECTION CONTROLLED F. 1,000 12.10 50,0000 51.02 51,000 51.00 50,0000 52.10 50,0000 52.00 53.00 50,0000 52.00 53.00 50,0000 52.00 53.00 50,0000 52.00 53.00 50,0000 52.00 53.00 50,0000 52.00 53.00 50,0000 52.00 53.00 50,0000 52.00 53.00 50,0000 52.00 53.00 50,0000 52.00 53.00 50,0000 52.00 53.00 50,0000 52.00 53.00 50,0000 52.00 53														
The PRESENCE AND ASSET FOR THE PART \$Y \$2,000 \$3.50 \$91,000 \$3.50 \$92,000 \$3.50 \$92,000 \$3.50 \$93,000 \$93,000 \$93,000 \$93,000 \$93,000 \$93,000 \$93,000 \$93,00														
10 DECEMBRICATION TOUR PROPERTY TOUR P														
Top													\$3.25	\$193,453.00
Top Description Top To														
169 SECRIF FOR EROS CHITE (CL. FER MICH SO) SY														
TO IPRIGEATION SYSTEM RELOCATIONAL MISSION 1 \$40,000.00 \$40,														
287 ILEX BASE TYA OR TY DOOR 2010 197 1900 59.00														
200 IMPLETERIES SUBSPRADE(DC)(PT) SY 4.000 \$2.28 \$8,000.00 \$3.20 \$316,000.00 \$316,000.00														
200 IMP TEATED SUBPRADE(PCXPP) SY 44,000 \$2.26 \$89,000.00 \$3.90 \$112,000.00 \$3.20 \$110,000.00 \$3.20 \$3.20 \$110,000.00 \$3.20 \$3.20 \$110,000.00 \$3.20														
200 LAME (TYPE A SILIRRY) TN 1,034 \$142.00 \$146.00 \$175.00 \$140.00 \$175.00 \$150.00 \$175.00 \$150.00 \$175.00 \$150.00 \$175.00 \$150.00 \$175.00 \$150.00 \$175.00 \$150.00 \$175.00 \$150.00 \$175.00 \$150.00 \$175.00 \$150.00 \$175.00 \$150.00 \$175.00 \$150.00 \$175.00 \$150.00 \$175.00 \$150.00 \$175.00 \$150.00 \$175.00 \$150.00 \$175.00 \$150.00 \$175.00 \$														
398 HOT MIX ASPHALT CONC PART ITY '9' N 300 386.70 \$20,000 394.00 \$85.55 \$12,225 \$5 \$80.00 \$77.00 \$23,000 \$77.00 \$23,000 \$18,000 \$80.00 \$80.00 \$80.00 \$13,200 \$20.00 \$13,200 \$20.00 \$13,200 \$20.00 \$13,200 \$20.00														
300 DOT, MAYABERT (TOT CONC. PVAIT (TY "D") TV 46.00 \$32.55 \$13.82,050 \$83.00 \$32.00 \$13.80,000 \$39.00 \$17.80,000 \$33.00 \$17.80,000 \$33.00 \$17.80,000 \$33.00 \$17.80,000 \$33.00 \$17.80,000 \$33.00 \$17.80,000 \$33.00 \$17.80,000 \$33.00 \$17.80,000 \$33.00 \$17.80,000 \$33.00 \$17.80,000 \$33.00 \$17.80,000 \$33.0					· ·							,		, ,
300 COMP, PAVEMENT (PTHOCK, REINF., CL, P) SY 3,500 \$28.66 \$10,075.00 \$33.15 \$110,025.00 \$37.50 \$96,250.00 \$40.00 \$10.00 \$30.00 \$30.00 \$10.00 \$30.00 \$30.00 \$12.00 \$30.00 \$10.00 \$30.00 \$10.00 \$30.00 \$10.00 \$30.00 \$10.00 \$30.00 \$10.00 \$30.00 \$10.00 \$30.00 \$10.00 \$30.00 \$10.00 \$30.00 \$10.00 \$30.00 \$10.00 \$30.00 \$10.00 \$30.00 \$10.00 \$30.00 \$10.00 \$30.00 \$10.00 \$30.00 \$10.00 \$30.00 \$10.00 \$30.00 \$10.00 \$30.00 \$10.00 \$3														
SOC CONC PAYEMENT REPRET HEADER F 800 \$10.00 \$80.00.00 \$12.00 \$12.00 \$10.00	360 CONC. PAVEMENT (10" THICK, REINF., CL. P) SY	46,000	\$29.25	\$1,345,500.00	\$27.04	\$1,243,840.00	\$28.00	\$1,288,000.00	\$39.00	\$1,794,000.00	\$36.50	\$1,679,000.00	\$33.00	\$1,518,000.00
380 CONCUNDERCUTEREN STREET HEADER LF 100 \$10.0		3,500												
1906 MONOLITHIC CONCRETE CUBB														
HOMBRIEFILL CV 100 \$92.70 \$92.700 \$92.700 \$97.60 \$90.000 \$90.000 \$90.000 \$90.000 \$94.000 \$71.50 \$71.500 \$7	100 00000000000000000000000000000000000													
400 TRENOF EXCAVATION PROTECTION F 7,968 \$1.00 \$3,984.00 \$1.00 \$7,988.00 \$1.00 \$7,988.00 \$1.00 \$7,988.00 \$1.00 \$7,988.00 \$1.00 \$1.525 \$1.525.00 \$2														
REPERDARY SPECIAL SHORMO SF 1,000 \$15.45 \$15.450.00 \$22.25 \$22.250.00 \$22.000 \$32.000.00 \$15.00 \$15.00 \$15.25 \$15.250.00 \$20.0000 \$20.0														
## ORILLED SHAFT FOUNDATION (OF 'DAM) F 1.400 \$97.85 \$136,980.00 \$88.86\$ \$120,190.00 \$75.99 \$100.388.00 \$140,000.00 \$101.50 \$142,100.00 \$100.00 \$140,000.00 \$40.00.00 \$4														
## CLTC*** CONGRETE (ABUT.**)														
420 CL-°C CONCRETE (BENT) 420 CL-°C CONCRETE (STRUCT APPRCH SLAB) 420 CL-°S CONCRETE (STRUCT APPRCH SLAB) 420 CONCRETE (STRUCT APPRCH SLAB) 420 CONCRETE (STRUCT APPRCH SLAB) 420 CONCRETE (STRUCT APPRCH CL-SS TC) 420 CONCRETE (STRUCT APPRCH SLAB) 420 CONCRETE (STRUCT APPRC														,
420 CL*S* CONCRETE (STRUCTA PPRCH SLAB) CY 120 \$388.25 \$46,350.00 \$383.80 \$46,050.00 \$327.50 \$333,00.00 \$40,00.00 \$33,350.00 \$32,00.00 \$30,00.00														
420 CL*S* CONCRETE (SHEAR KEY) 420 CL*ONCRETE (CHUME/APRONIMOWSTRP) 75 105 8320 00 \$48,000 00 \$314,050 00 \$226,000 \$33,350 00 \$226,000 \$39,000 \$34,000 \$310,000 \$40,000 \$310,000 \$40,000 \$310,000 \$40,														
422 C.1.*S' CONCRETE (REINF, CONC. SLAB) CY 380 \$566.50 \$215.270.00 \$525.00 \$159.576.00 \$425.00 \$161.500.00 \$585.00 \$209.000.00 \$585.60 \$212.200.00 \$600.00 \$125.000 \$120.00														
422 RETAINING WALL (SEGMENTAL) SF 7,000 \$25.00 \$175,000.00 \$13171 \$99,970.00 \$16.00 \$112,000.00 \$19.00 \$131,000.00 \$25.00 \$175,001.00 \$18.00 \$126,000.00 \$20.00 \$25.00 \$25.00 \$175,000.00 \$19.00 \$10.00 \$20.00 \$25.0	420 CL 'A" CONCRETE (FLUME/APRON/MOWSTRP) CY	150	\$320.00	\$48,000.00	\$311.08	\$46,662.00	\$300.00	\$45,000.00	\$275.00	\$41,250.00	\$710.75	\$106,612.50	\$260.00	\$39,000.00
423 RETAINING WALL (TYPE 8) CY 20 \$876.00 \$17.000.00 \$454.50 \$9,090.00 \$750.00 \$17.000.00 \$850.00 \$17.000.00 \$340.00 \$9,000.00 \$247.00 \$247.000	422 CL "S" CONCRETE (REINF. CONC. SLAB) CY	380	\$566.50	\$215,270.00	\$525.20	\$199,576.00	\$425.00	\$161,500.00	\$550.00	\$209,000.00	\$558.50	\$212,230.00	\$600.00	\$228,000.00
423 RETAINING WALL (TYPE 6) CY 500 \$765.00 \$382.500.00 \$454.50 \$227.250.00 \$475.00 \$237.500.00 \$350.00 \$175.000.00 \$685.50 \$342.750.00 \$500.00 \$250.000.01 \$425 PRESTRESSED CONC. BEAMS (4B20) LF 1,585 \$123.60 \$195.906.00 \$123.22 \$195.303.70 \$150.00 \$237.750.00 \$170.00 \$269.450.00 \$122.00 \$348.066.00 \$146.00 \$231.410.00 \$425 PRESTRESSED CONC. BEAMS (5B20) LF 2,2853 \$125.00 \$352.630.80 \$123.22 \$395.546.66 \$150.00 \$427.750.00 \$170.00 \$269.450.00 \$122.00 \$348.066.00 \$146.00 \$231.410.00 \$425 PRESTRESSED CONC. BEAMS (5B20) LF 2,2853 \$125.00 \$352.630.80 \$123.22 \$351.546.66 \$150.00 \$427.750.00 \$170.00 \$485.01.00 \$122.00 \$348.066.00 \$146.00 \$231.410.00 \$425 PRESTRESSED CONCRETE REATMENT SF 21.000 \$1.05 \$22.050.00 \$0.40 \$8.400.00 \$0.35 \$7.350.00 \$10.00 \$120.00 \$346.066.00 \$10.00 \$21.000.00 \$22	423 RETAINING WALL (SEGMENTAL) SF	7,000	\$25.00	\$175,000.00	\$13.71	\$95,970.00	\$16.00	\$112,000.00	\$19.00	\$133,000.00	\$25.00	\$175,000.00	\$18.00	\$126,000.00
425 PRESTRESSED CONC. BEAMS (BB20) LF 1,585 \$123.60 \$195,906.00 \$123.22 \$195,303.70 \$150.00 \$237,750.00 \$170.00 \$289,450.00 \$122.00 \$140.00 \$231,410.0 \$23														
### 425 PRESTRESSED CONC. BEAMS (5B20)														
428 CONCRETE SURFACE TREATMENT SF 21,000 \$1.05 \$22,050.00 \$0.40 \$8,400.00 \$0.35 \$7,350.00 \$0.35 \$7,350.00 \$1.00 \$21,000.00 \$0.35 \$73,500.00 \$42 CONCRETE RIPRAP (CLASS 'B') CY 130 \$360.50 \$46,865.00 \$398.95 \$51,863.50 \$300.00 \$39,000.00 \$39,000.00 \$350.00 \$45,500.00 \$355.50 \$46,500.00 \$260.00 \$														
432 CONCRETE RIPRAP (CLASS "B") CY 130 \$360.50 \$46,865.00 \$398.95 \$51,863.50 \$300.00 \$39,000.00 \$350.00 \$45,500.00 \$355.50 \$46,215.00 \$260.00 \$33,800.00 \$45,500.00 \$														
\$32 STONE RIPRAP (TY R)(GROUTED)(18" THICK) \$Y 2,500 \$87.55 \$218,875.00 \$60.60 \$151,500.00 \$55.00 \$137,500.00 \$60.00 \$150,000.00 \$230,000.00 \$100.00 \$250,000.00 \$450 BRIDGE RAILING (TY PR 1) LF 700 \$103.00 \$72,100.00 \$141.40 \$98,980.00 \$86.00 \$56,000.00 \$140.00 \$98,000.00 \$151.50 \$71,050.00 \$130.00 \$91,000.00 \$100.00 \$														
## 450 BRIDGE RAILING (TY C411)	` '													
450 BRIDGE RAILING (TY PR 1)														
450 HANDRAIL FOR STEPS AND RAMPS														
454 SEALED EXPANSION JOINT (4") LF 198 \$128.75 \$25,492.50 \$90.90 \$17,998.20 \$100.00 \$19,800.00 \$120.00 \$23,760.00 \$127.00 \$25,146.00 \$100.00 \$19,800.00 \$454 EXPANSION JOINT COVER PLATE PER ADA EA 4 \$1,287.50 \$5,150.00 \$909.00 \$3,630.00 \$900.00 \$3,600.00 \$1,300.00 \$5,200.00 \$1,269.00 \$5,076.00 \$1,300.00 \$5,200.00 \$1,269.00 \$5,076.00 \$1,300.00 \$5,200.00 \$1,269.00 \$1										1 ,				
462 REINF. CONCRETE BOX CULVERT 6' X 5' LF 257 \$210.00 \$53,970.00 \$201.62 \$51,816.34 \$203.50 \$52,299.50 \$225.00 \$57,825.00 \$57,825.00 \$200.00 \$51,400.0 462 REINF. CONCRETE BOX CULVERT 7' X 4' LF 308 \$231.75 \$71,379.00 \$173.61 \$53,471.88 \$225.00 \$69,300.00 \$250.00 \$77,000.00 \$235.00 \$72,380.00 \$240.00 \$73,920.0 462 REINF. CONC. BOX CULVERT 7' X 7' LF 533 \$278.00 \$148,174.00 \$160.71 \$85,658.43 \$209.50 \$230.00 \$122,590.00 \$296.00 \$157,768.00 \$290.00 \$154,570.0 464 REINF. CONC. PIPE, 18" DIAMETER, CL. III LF 93 \$34.55 \$3,213.15 \$33.28 \$3,095.04 \$33.50 \$31,760.00 \$27,200.00 \$25.75 \$2,394.75 \$37.00 \$34.65 \$37.02 \$19,695.44 \$37.50 \$19,762.50 \$40.00 \$21,080.00 \$30.25 \$13,641.75 \$42.00 \$22,134.0 \$24.80 \$21,080.00 \$30.25	454 SEALED EXPANSION JOINT (4") LF	198	\$128.75					\$19,800.00	\$120.00			\$25,146.00	\$100.00	\$19,800.00
462 REINF. CONCRETE BOX CULVERT 7' X 4' LF 308 \$231.75 \$71,379.00 \$173.61 \$53,471.88 \$225.00 \$69,300.00 \$250.00 \$77,000.00 \$235.00 \$72,380.00 \$240.00 \$73,920.0 \$73,920.0 \$250.00 \$160.71 \$85,658.43 \$269.50 \$143,643.50 \$230.00 \$122,590.00 \$296.00 \$157,768.00 \$290.00 \$154,570.0 \$154,570.0 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$157,768.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00														
462 REINF. CONC. BOX CULVERT 7' X 7' LF 533 \$278.00 \$148,174.00 \$160.71 \$85,658.43 \$269.50 \$143,643.50 \$230.00 \$122,590.00 \$296.00 \$157,768.00 \$290.00 \$154,570.0 464 REINF. CONC. PIPE, 18" DIAMETER, CL. III LF 93 \$34.55 \$3,213.15 \$33.28 \$3,095.04 \$33.50 \$3,115.50 \$40.00 \$3,720.00 \$25.75 \$2,394.75 \$37.00 \$3,441.0 464 REINF. CONC. PIPE, 21" DIAMETER, CL. III LF 527 \$38.65 \$20,368.55 \$37.02 \$19,509.54 \$37.50 \$40.00 \$21,080.00 \$30.25 \$15,941.75 \$42.00 \$22,134.00 464 REINF. CONC. PIPE, 24" DIAMETER, CL. III LF 2,179 \$43.80 \$95,440.20 \$42.50 \$92,807.50 \$45.00 \$98,055.00 \$33.75 \$37,541.25 \$44.00 \$98,055.00 \$45.50 \$99,040.00 \$20,040.00 \$20,040.00 \$20,040.00 \$20,040.00 \$20,040.00 \$20,040.00 \$20,040.00 \$20,040.00 \$20,040.00 \$20,040.00														
464 REINF. CONC. PIPE, 18" DIAMETER, CL. III LF 93 \$34.55 \$3,213.15 \$33.28 \$3,095.04 \$33.50 \$3,115.50 \$40.00 \$3,720.00 \$25.75 \$2,394.75 \$37.00 \$3,441.0 464 REINF. CONC. PIPE, 21" DIAMETER, CL. III LF 527 \$38.65 \$20,368.55 \$37.02 \$19,509.54 \$37.50 \$19,762.50 \$40.00 \$21,080.00 \$30.25 \$15,941.75 \$42.00 \$22,134.0 464 REINF. CONC. PIPE, 24" DIAMETER, CL. III LF 2,179 \$43.80 \$95,440.20 \$42.35 \$92,280.65 \$42.50 \$92,607.50 \$45.00 \$98,055.00 \$33.75 \$73,541.25 \$44.00 \$95,876.0 464 REINF. CONC. PIPE, 30" DIAMETER, CL. III LF 1,093 \$57.20 \$62,519.60 \$53.33 \$58,289.69 \$55.50 \$60,661.50 \$60.00 \$45.50 \$49,731.50 \$49.00 \$53,557.0														
464 REINF. CONC. PIPE, 21" DIAMETER, CL. III LF 527 \$38.65 \$20,368.55 \$37.02 \$19,509.54 \$37.50 \$19,762.50 \$40.00 \$21,080.00 \$30.25 \$15,941.75 \$42.00 \$22,134.0 464 REINF. CONC. PIPE, 24" DIAMETER, CL. III LF 2,179 \$43.80 \$95,440.20 \$42.35 \$92,280.65 \$42.50 \$92,607.50 \$45.00 \$98,055.00 \$33.75 \$73,541.25 \$44.00 \$95,876.0 464 REINF. CONC. PIPE, 30" DIAMETER, CL. III LF 1,093 \$57.20 \$62,519.60 \$53.33 \$58,289.69 \$55.50 \$60,661.50 \$60.00 \$65,580.00 \$49,731.50 \$49.00 \$53,557.0														
464 REINF. CONC. PIPE, 24" DIAMETER, CL. III LF 2,179 \$43.80 \$95,440.20 \$42.35 \$92,280.65 \$42.50 \$92,607.50 \$45.00 \$98,055.00 \$33.75 \$73,541.25 \$44.00 \$95,876.0 464 REINF. CONC. PIPE, 30" DIAMETER, CL. III LF 1,093 \$57.20 \$62,519.60 \$53.33 \$58,289.69 \$55.50 \$60,661.50 \$60.00 \$45.50 \$49,731.50 \$49.00 \$53,557.0														
464 REINF. CONC. PIPE, 30" DIAMETER, CL. III LF 1,093 \$57.20 \$62,519.60 \$53.33 \$58,289.69 \$55.50 \$60,661.50 \$60.00 \$65,580.00 \$49.731.50 \$49.70 \$57.57.00 \$49.70 \$57.57.00 \$49.70 \$57.57.00 \$49.70 \$49														
1 464 REINE CONC PIPE 36" DIAMETER CLUI LLE L 568 \$73.65 \$41.833.20 \$74.05 \$42.060.40 \$71.50 \$40.612.00 \$71.50 \$40.612.00 \$61.75 \$40.612.00 \$63.00 \$63.00 \$63.00 \$63.00	464 REINF. CONC. PIPE, 30 DIAMETER, CL. III LF	568	\$73.65	\$41,833.20	·	\$42,060.40		\$40,612.00	· ·	\$40,612.00			·	

PROJECT: PIONEER ROAD MCIP PROJECT 21902 LIMITS: BELT LINE ROAD TO CARTWRIGHT ROAD BID: #2011-005-5264 DATE: 11/18/2010

BID TAB

PROJECT MANAGER: JOHN L. MEARS, P.E.

		TISEO PAVING CO.			LACY CONSTRUC	CTION	ED BELL CONSTRUCTION		REBCON INC.		AUSTIN BRIDGE & ROAD		OMEGA CONSTR	UCTION
ITEM DESCRIPTION	UNIT	QUANTITY		EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
464 REINF. CONC. PIPE, 60" DIAMETER, CL. III	LF	664	\$166.60	\$110,622.40	\$153.9°	1 \$102,196.24	\$161.75	\$107,402.00	\$173.00	\$114,872.00	\$158.25	\$105,078.00	\$160.00	\$106,240.00
464 REINF. CONC. PIPE, 66" DIAMETER, CL. III	LF	1,595	\$195.70	\$312,141.50	\$187.86	\$299,636.70	\$190.00	\$303,050.00	\$200.00	\$319,000.00	\$180.25	\$287,498.75	\$192.00	\$306,240.00
465 INLET COMPLETE, 10' RECESSED	EA	8	\$2,525.00	\$20,200.00	\$2,222.00	\$17,776.00	\$2,450.00	\$19,600.00			\$2,755.25	\$22,042.00	\$2,600.00	\$20,800.00
465 INLET COMPLETE, 12' RECESSED	EA	5		\$14,200.00	\$2,878.50									
465 INLET COMPLETE, 16" RECESSED	EA	2	1 - 1	\$7,110.00	\$3,282.50	1 - 1		\$6,900.00						
465 INLET COMPLETE, 20" RECESSED	EA	12		\$46,380.00	\$4,040.00									
465 MANHOLE COMPLETE, TY A. 3' X 3' DIAM. 465 MANHOLE COMPLETE, TY B. 4' X 4' DIAM.	EA	2		\$4,740.00 \$3,400.00	\$3,131.00 \$2,828.00			\$4,600.00 \$3,300.00						
465 MANHOLE COMPLETE, TY B 4 X 4 DIAM.	EA	4		\$18,960.00	\$4,848.00			\$18,400.00				\$22,000.00		
465 MANHOLE COMPLETE, JUNC BOX, SPECIAL	EA	1		\$19,520.00	\$16,665.00									
465 CATCH BASIN, 14" X 14"	EA	4		\$3,300.00	\$757.50			\$3,200.00		1 .,				
465 INLET COMPLETE, STANDARD "Y", 3' X 3'	EA	6	\$1,935.00	\$11,610.00	\$2,121.00	\$12,726.00	\$1,875.00	\$11,250.00	\$2,000.00	\$12,000.00	\$1,939.00	\$11,634.00	\$1,800.00	\$10,800.00
465 INLET COMPLETE, SPECIAL "Y"	EA	1	\$3,090.00	\$3,090.00	\$2,878.50	\$2,878.50	\$3,000.00	\$3,000.00	\$3,200.00			\$3,367.00	\$3,100.00	\$3,100.00
465 DOUBLE GRATE INLET	EA	1		\$3,060.00	\$2,626.00			\$2,970.00				\$3,325.00		
465 TRIPLE GRATE INLET	EA	2		\$6,800.00	\$3,232.00			\$6,600.00						
466 HEADWALL, TYPE "A"	EA	1		\$2,266.00	\$2,828.00									
466 HEADWALL, TYPE "B"	EA	1		\$2,163.00	\$1,666.50			\$2,100.00						
466 HEADWALL, TYPE "C"	EA EA	1		\$1,802.50 \$3,296.00	\$1,969.50 \$3,888.50									
466 WINGWALL (FW-O) 466 WINGWALL (PW)(5')	EA	1		\$3,296.00	\$13,382.50									
466 WINGWALL (PW)(6')	EA	1		\$14,729.00	\$13,382.50									
466 WINGWALL (PW)(13')	EA	2		\$72,512.00	\$72,467.50									
467 SAFETY END TRTMT (TY II)(18")(4:1)(PARALLEL)	EA	2		\$2,580.00	\$909.00			\$2,500.00						
467 SAFETY END TRTMT (TY II)(66")(3:1)(PARALLEL)	EA	1	\$7,265.00	\$7,265.00	\$4,444.00	\$4,444.00	\$7,050.00	\$7,050.00	\$7,500.00	\$7,500.00	\$8,000.00	\$8,000.00	\$7,500.00	\$7,500.00
467 SAFETY END TRTMT (TY II)(36")(4:1)(CROSS)	EA	1	\$1,957.00	\$1,957.00	\$2,878.50	\$2,878.50	\$1,900.00	\$1,900.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00
467 SAFETY END TRTMT (TY II)(42")(4;1)(CROSS)	EA	1	. ,	\$2,626.50	\$3,383.50	1 - 7		, ,		. ,				
474 SLOTTED DRAIN	LF	50		\$14,162.50	\$183.00									
479 ADJUST MANHOLE TOP	EA	10		\$12,500.00	\$757.50									
479 ADJUST MANHOLE STRUCTURE (5') 481 PVC PIPE (10")	VF	200	\$257.50 \$30.90	\$5,150.00	\$252.50 \$26.38									
496 REMOVING OLD STRUCTURES - PIPE	I F	1,600	\$30.90	\$6,180.00 \$7,440.00	\$20.30	1.7		\$6,000.00 \$7,200.00						
496 REMOVING OLD STRUCTURES - SM.(HDWALLS		50		\$25,750.00	\$299.20	,		\$25,000.00						
496 REM OLD STRCT- LG 5X5 BX CULV/WINGWALL	4	1		\$4,430.00	\$3,152.4									
496 REM OLD STRCT- LG 2-8X6 BX CULV/WINGWL)		1	. ,	\$6,130.00	\$8,901.1			\$5,950.00						
496 REMOVING OLD STRUCTURES-LG(EX BRIDGE)	LS	1	\$30,900.00	\$30,900.00	\$41,410.00	\$41,410.00	\$50,000.00	\$50,000.00	\$60,000.00	\$60,000.00	\$35,000.00	\$35,000.00	\$42,000.00	\$42,000.00
500 MOBILIZATION	LS	1		\$477,000.00	\$542,470.5		\$815,998.70	\$815,998.70	\$507,000.00	\$507,000.00		\$750,000.00	\$1,100,000.00	
502 BARRICADES, SIGNS & TRAFFIC HANDLING	MO	18		\$165,060.00	\$2,500.00			\$238,500.00				\$42,300.00		
502 ELECTRONIC MESSAGE DISPLAY BOARD	DAYS	200	\$85.00	\$17,000.00	\$85.88									
504 FACILITIES FOR FIELD OFFICE	MO	18	. ,	\$85,500.00	\$814.39	. , ,		,						1,
508 CONSTRUCTING DETOURS (CLASS III) 508 TEMPORARY DRAINAGE PIPE FOR DETOUR	SY	15,000 2,000	\$26.95 \$28.85	\$404,250.00 \$57,700.00	\$24.54 \$25.80			\$300,000.00 \$50,000.00						
512 CONC. TRAF. BARRIERS(PORT)(FURN.,INST,RN		10,000	\$20.05 \$15.45	\$57,700.00	\$49.93			\$150,000.00						
528 COLORED STAMPED CONCRETE (10" THICK)	SY	300	\$91.20	\$27,360.00	\$89.39			\$24,000.00						
530 DRIVEWAYS (SURF.TRTMT.)(FLEX BASE)(6")	SY	1,000	\$6.10	\$6,100.00	\$7.34									
530 DRIVEWAYS (CONC.)(REINF)(6" THICK)	SY	5,000	\$35.55	\$177,750.00	\$27.76									
531 CONC. SDWLKS (REINF)(4" THICK)	SY	8,500	\$27.30	\$232,050.00	\$32.09	\$272,765.00	\$29.00	\$246,500.00	\$24.00	\$204,000.00	\$31.00	\$263,500.00	\$32.00	\$272,000.00
531 CONC. SDWLKS (REINF)(BARRIER FREE RMPS		300	\$59.75	\$17,925.00	\$54.67			\$66,630.00						
531 CONCRETE STEPS	SY	50		\$7,725.00	\$196.12	1 - 7		\$6,305.50		1 - 1 - 1 - 1				,
540 METAL BEAM GUARD FENCE (12 GAUGE)	LF	875		\$16,318.75	\$18.28			\$15,750.00						
540 METAL BEAM GD FNC (12 GA) FNC TRANS(TY2) 540 TERMINAL ANCHOR SECTION	EA EA	12 9	\$1,475.00 \$645.00	\$17,700.00 \$5,805.00	\$1,444.30 \$631.25			\$16,320.00 \$4,050.00						
540 SINGLE GUARDRAIL TERMINAL (SGT-7)	EA	9	\$645.00	\$5,805.00 \$18,360.00	\$1.999.80			\$4,050.00						
540 SINGLE GUARDRAIL TERMINAL (SGT-7) 542 REMOVE EX METAL BEAM GUARD FENCE	LF	178	1 /	\$16,360.00	\$1,999.80			\$356.00						
550 TEMP. CONSTRUCTION FENCE	LF	5,000	\$5.97	\$29,850.00	\$2.02			\$29,000.00						
550 AUTOMATIC IRON DRIVEWAY GATES	ALW	1	\$10,000.00	\$10,000.00	\$10,000.00			\$10,000.00						
550 CHAIN LINK FENCE (8' HIGH) INC. GATES	LF	400	\$18.55	\$7,420.00	\$18.18			\$7,200.00						
550 WOOD PRIVACY FENCE (8' HIGH)	LF	1,000	\$35.00	\$35,000.00	\$34.34	1. /		, , , , , , , , ,		1		1 -,		1 - 7
552 WIRE FENCE (METAL POST)(TY C)	LF	4,000	\$3.45	\$13,800.00	\$3.38	\$13,520.00	\$3.35	\$13,400.00	\$4.20	\$16,800.00	\$5.25	\$21,000.00	\$16.00	\$64,000.00

Page 3 2011-005-5264.Pioneer.Bid Tab.LB

PROJECT: PIONEER ROAD MCIP PROJECT 21902 LIMITS: BELT LINE ROAD TO CARTWRIGHT ROAD BID: #2011-005-5264 DATE: 11/18/2010

BID TAB

PROJECT MANAGER: JOHN L. MEARS, P.E.

		1	TISEO PAVING CO.		LACY CONSTRUCTION		ED BELL CONSTRUCTION		REBCON INC.		AUSTIN BRIDGE & ROAD		OMEGA CONSTRU	JCTION
ITEM DESCRIPTION	UNIT	QUANTITY !	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
552 METAL GATE (TY 1)	EA	4	\$490.00	\$1,960.00	\$479.75	\$1,919.00	\$475.00	\$1,900.00	\$410.00	\$1,640.00	\$1,750.00	\$7,000.0	0 \$2,100.00	\$8,400.00
560 MAILBOX ASSEMBLIES (PERMANENT)	EA	36	\$250.00	\$9,000.00	\$318.07	\$11,450.52	\$200.00	\$7,200.00	\$500.00	\$18,000.00	\$600.00	\$21,600.0	0 \$260.00	\$9,360.00
618 CONDUIT (PVC)(4" DIAM)(SCHEDULE 40)	LF	400	\$7.55	\$3,020.00	\$7.37	\$2,948.00								
624 GROUND BOXES	EA	4	\$515.00	\$2,060.00	\$505.00	\$2,020.00								
647 RELOC LG VALLEY CREEK PARK SIGN, COMP	EA	1	\$5,150.00	\$5,150.00	\$3,030.00	\$3,030.00								
662 WK ZONE PVMT MRKG(4" ONEWAY REFL WHT		8,000	\$2.60	\$20,800.00	\$3.03	\$24,240.00					•			
662 WK ZONE PVMT MRKG(4" TWOWAY REFL YEL)		10,000	\$2.60	\$26,000.00	\$3.03	\$30,300.00								\$27,000.00
666 REFL PVMT MRKG(TY I)(4")(WHT)(SOLID)	LF	500	\$0.60	\$300.00	\$0.76	\$380.00								\$300.00
666 REFL PVMT MRKG(TY 2)(4")(WHT)(SOLID) 666 REFL PVMT MRKG(TY I)(8")(WHT)(SOLID)	LF LF	500 1,700	\$0.15 \$1.05	\$75.00 \$1,785.00	\$0.25 \$1.52	\$125.00 \$2,584.00								
666 REFL PVMT MRKG(TY 2)(8")(WHT)(SOLID)	LF	1,700	\$0.31	\$527.00	\$0.40	\$680.00								
666 REFL PVMT MRKG(TY I)(12")(WHT)(SOLID)	LF	50	\$3.10	\$155.00	\$2.53	\$126.50								
666 REFL PVMT MRKG(TY 2)(12")(WHT)(SOLID)	LF	50	\$1.05	\$52.50	\$0.51	\$25.50				•	•			·
666 REFL PVMT(MRKG(TY I)(24")(WHT)(SOLID)	LF.	300	\$5.15	\$1,545.00	\$6.06	\$1,818.00								\$1,620.00
666 REFL PVMT MRKG (TY 2) (24") (WHT)(SOLID)	LF	300	\$2.10	\$630.00	\$1.01	\$303.00								
666 REFL PVMT MRKG (TY I) (ARROW)(WHITE)	EA	20	\$115.00	\$2,300.00	\$101.00	\$2,020.00								
666 REFL PVMT MRKG (TY 1)(WORD)(WHITE)	EA	20	\$125.00	\$2,500.00	\$101.00	\$2,020.00	\$300.00	\$6,000.00	\$120.00	\$2,400.00	\$120.00	\$2,400.0	0 \$100.00	\$2,000.00
672 RAISED PVMT MARKERS(CL B)(TY W)(4")	EA	1,700	\$2.35	\$3,995.00	\$3.03	\$5,151.00	\$3.25	\$5,525.00	\$2.35	\$3,995.00	\$2.50	\$4,250.0	0 \$2.40	\$4,080.00
672 RAISED PVMT MARKERS(CL B)(TY 11-C-R)(4")	EA	500	\$3.10	\$1,550.00	\$3.03	\$1,515.00	\$5.00	\$2,500.00	\$3.10	\$1,550.00	\$3.00	\$1,500.0	0 \$3.20	\$1,600.00
672 RAISED PVMT MARKERS(CL B)(TY Y)(4")	EA	900	\$2.35	\$2,115.00	\$3.03	\$2,727.00					\$2.50	\$2,250.0		
672 RAISED PVMT MARKERS(CL B)(TY II-A-A)(4")	EA	2,600	\$3.10	\$8,060.00	\$3.03	\$7,878.00								
672 RAISED PVMT MARKERS(CL B)(TY 1-C)(4")	EA	100	\$3.10	\$310.00	\$3.03	\$303.00								
5916 INSTALL ROCK FILTER DAM (TY 2)	LF	100	\$16.50	\$1,650.00	\$16.16	\$1,616.00		. ,				. ,		
5916 REMOVE ROCK FILTER DAM (TY 2)	LF	100	\$4.15	\$415.00	\$4.04	\$404.00								\$430.00
5916 INSTALL ROCK FILTER DAM (TY 3)	LF LF	500	\$18.55	\$9,275.00	\$18.18	\$9,090.00								\$9,500.00
5916 REMOVE ROCK FILTER DAM (TY 3)	LF	500	\$4.15	\$2,075.00	\$4.04	\$2,020.00		1 - 7		, . ,		. ,		\$2,150.00
5916 INSTALL ROCK FILTER DAM (TY 4) 5916 REMOVE ROCK FILTER DAM (TY 4)	LF	100 100	\$20.60 \$4.15	\$2,060.00 \$415.00	\$20.20 \$4.04	\$2,020.00 \$404.00								
5920 INSTALL TEMP SED. CNTRL FEN W/PLST CAPS		7,000	\$1.20	\$8,400.00	\$1.16	\$8,120.00								
5920 REMOVE TEMP. SED. CNTRL FENCE	LF	7,000	\$0.15	\$1,050.00	\$0.15	\$1,050.00								
5921 INSTALL CONST. EXITS (ROCK)(TY I)	SY	500	\$9.30	\$4,650.00	\$9.09	\$4,545.00					•			\$5,000.00
5921 REMOVE CONST. EXITS (ROCK)(TY I)	SY	500	\$0.65	\$325.00	\$0.61	\$305.00								\$300.00
5922 INSTALL INLET TEMP. SEDIMENT CONTROL	LF	1,000	\$2.15	\$2,150.00	\$2.07	\$2,070.00								
5922 REMOVE INLET TEMP. SEDIMENT CONTROL	LF	1,000	\$0.15	\$150.00	\$0.15	\$150.00	\$1.49	\$1,490.00	\$1.50	\$1,500.00	\$1.00	\$1,000.0	0 \$0.15	\$150.00
W.1 ADJUST WATER METER BOX	EA	10	\$128.75	\$1,287.50	\$120.56	\$1,205.60	\$125.00	\$1,250.00	\$130.00	\$1,300.00	\$102.00	\$1,020.0	0 \$260.00	\$2,600.00
W.2 ADJUST WATER VALVE STACK TOP	EA	10	\$206.00	\$2,060.00	\$145.81	\$1,458.10	\$200.00	\$2,000.00	\$210.00	\$2,100.00	\$102.00	\$1,020.0	0 \$260.00	\$2,600.00
W.3 ADJUST FIRE HYDRANT ELEVATION	EA	5	\$540.75	\$2,703.75	\$622.81	\$3,114.05								\$2,600.00
WW.1 CAP EXISTING WATER WELL	LS	1	\$2,729.50	\$2,729.50	\$589.98	\$589.98								\$5,000.00
GS.1 REMOVE EX. GROUND STORAGE TANK	LS	1	\$2,575.00	\$2,575.00	\$5,350.00	\$5,350.00								
SI.1 SITE INVESTIGATION FOR UTILITIES	EA	10	\$1,236.00	\$12,360.00	\$500.00	\$5,000.00	\$100.00	\$1,000.00	\$1,260.00	\$12,600.00	\$325.00	\$3,250.0	0 \$500.00	\$5,000.00
SUBTOTAL PAVING & DRAINAGE ITEMS				\$8,293,173.30		\$8,392,631.18		\$9,054,569.70)	\$9,138,227.00		\$9,534,724.5	:0	\$9,597,604.75
(MCKENZIE ROAD TO CARTWRIGHT ROAD)				ψ0,233,173.30		ψ0,032,031.10		ψ3,034,303.70	,	ψ3,130,227.00	1	\$3,334,124.3		ψ3,337,004.73
SCHEDULE II - MESQUITE UTILITIES														
U.1 20" D.I. WATER PIPE (CLASS 52)	LF LF	7,410	\$95.80	\$709,878.00	\$90.00	\$666,900.00								
U.2 6" PVC WATER PIPE -SDR 14 (200 PSI) U.3 8" PVC WATER PIPE - SDR 14 (200 PSI)	LF	180 500	\$42.25 \$58.20	\$7,605.00	\$32.84 \$42.81	\$5,911.20 \$21,405.00						, ,,,,,,,,		. ,
U.4 12" PVC WATER PIPE - SDR 14 (200 PSI)	LF	40	\$58.20 \$43.30	\$29,100.00 \$1,732.00	\$42.81 \$72.25	\$21,405.00								\$24,500.00 \$2,560.00
U.5 8" PVC PRESSURE RATED W.W. PIPE (DR-26)	LF	2.210	\$23.70	\$52,377.00	\$25.82	\$57,062.20								\$88,400.00
U.6 12" PRESSURE RATED W.W. PIPE (DR-26)	LF	3,310	\$28.85	\$95,493.50	\$33.90	\$112,209.00						,		\$125,780.00
U.7 CONNECTION TO EXIST. MANHOLE	EA	5,510	\$515.00	\$2,575.00	\$1,398.33	\$6,991.65								\$4,250.00
U.8 8" D.I. W.W. PIPE (CL 52) W/401 INT. COATING	LF	490	\$56.65	\$27,758.50	\$52.64	\$25,793.60								\$34,300.00
U.9 EXTRA CAST IRON FITTING	TN	6	\$3,656.50	\$21,939.00	\$5,055.75	\$30,334.50				, .,				\$18,600.00
U.10 INSTALL FIRE HYDRANT	EA	16	\$2,240.25	\$35,844.00	\$2,156.29	\$34,500.64								

Page 4 2011-005-5264.Pioneer.Bid Tab.LB

PROJECT: PIONEER ROAD MCIP PROJECT 21902 LIMITS: BELT LINE ROAD TO CARTWRIGHT ROAD

PROJECT MANAGER: JOHN L. MEARS, P.E.

BID: #2011-005-5264 DATE: 11/18/2010

BID TAB

	TISEO PAVING CO.		LACY CONSTRUCTION		ED BELL CONST	RUCTION	REBCON INC.		AUSTIN BRIDGE & ROAD		OMEGA CONSTR	UCTION		
ITEM DESCRIPTION	UNIT	QUANTITY UN		EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
U.12 DELIVER FIRE HYDRANT TO CITY	EA	10	\$77.25	\$772.50	\$45.89	\$458.90	\$75.00	\$750.00	\$78.00	\$780.00	\$51.25	5 \$512.50	\$44.00	\$440.00
U.13 6" RS GATE VALVE	EA	17	\$875.50	\$14,883.50	\$743.45	\$12,638.65	\$850.00							
U.14 8" RS GATEVALVE	EA	10	\$1,236.00		\$1,009.88	\$10,098.80								
U.15 12" RS GATE VALVE	EA	2	\$2,111.50		\$1,837.14									
U.16 20" RS GATE VALVE U.17 CUT & PLUG EXIST. WATER MAIN	EA	16 15	\$10,815.00 \$772.50		\$9,806.73 \$363.55	\$156,907.68 \$5,453.25								
U.18 TYPE II AIR VALVE ASSEMBLY	EA EA	4	\$4,532.00		\$5,425.15	\$5,453.25								
U.19 WATER METER	EA	10	\$56.65		\$169.45	\$1,694.50								
U.20 3/4" WATER SERVICE - LONG	EA	10	\$368.25			\$14,210.30								
U.21 1-1/2" WATER SERVICE - LONG	EA	2	\$1,699.50	\$3,399.00	\$2,187.96	\$4,375.92								
U.22 2" WATER SERVICE - SHORT	EA	5	\$391.40	\$1,957.00	\$2,425.11	\$12,125.55	\$380.00	\$1,900.00	\$390.00	\$1,950.00	\$1,850.00	\$9,250.00	\$1,700.00	\$8,500.00
U.23 4" WASTEWATER LATERAL	EA	5	\$453.20		\$807.71	\$4,038.55								
U.24 48" DIA. TY "S" WASTEWATER MANHOLE	EA	18	\$3,038.50		\$2,999.12	\$53,984.16								
U.25 60" DIA. TY "S" WASTEWATER MANHOLE	EA	5	\$4,326.00		\$5,402.04	\$27,010.20								
U.26 60" DIA. DROP CONNECT. TY "S" MANHOLE U.27 ABANDON EXISTING MANHOLE	EA EA	5	\$4,403.25 \$515.00		\$5,266.33 \$490.03	\$15,798.99 \$2,450.15								
U.28 REMOVE EXISTING MANHOLE	EA	10	\$566.50		\$646.04	\$6,460.40								
U.29 TRENCH SAFETY AND SUPPORT	LF	14,260	\$1.05		\$0.27	\$3,850.20								
U.30 28" DIA. (7/16" THK) STEEL PIPE ENCASEMEN	T LF	520	\$92.70	\$48,204.00	\$131.96	\$68,619.20								
U.31 18" DIA. (5/16" THK) STEEL PIPE ENCASEMEN	T LF	45	\$53.60	\$2,412.00	\$87.70	\$3,946.50	\$52.00	\$2,340.00	\$54.00	\$2,430.00	\$53.25	5 \$2,396.25	5 \$70.00	\$3,150.00
U.32 16" DIA. (5/16" THK) STEEL PIPE ENCASEMEN	T LF	50	\$61.80	\$3,090.00	\$80.88	\$4,044.00								\$3,250.00
U.33 8" WASTEWATER AERIAL CROSSING	LS	1	\$24,100.00		\$25,337.86	\$25,337.86								
U.34 STORMWATER POLLUTION PREVENT. PLAN	LS	1	\$3,195.00		04.000.07	\$0.00								
U.35 REMOVE EXISTING W,W, AERIAL CROSSING U.36 INVESTIGATION	LS EA	1	\$1,700.00 \$1.545.00		\$1,300.07 \$500.00	\$1,300.07 \$500.00	\$1,650.00 \$200.00							
U.36 INVESTIGATION	EA	1	\$1,545.00	\$1,545.00	\$500.00	\$500.00	\$200.00	\$200.00	\$1,575.00	\$1,575.00	\$350.00	J \$350.00	\$470.00	\$470.00
SUBTOTAL SCHEDULE II - MESQUITE UTILITY	TITEMS			\$1,429,704.25		\$1,427,779.10	1	\$1,429,846.50)	\$1,492,285.00)	\$1,494,514.00	0	\$1,849,670.00
				Ţ1,120,101.20		41,121,111		71,120,01010		71,100,000		71,121,21111		, i, i i i i i i i i i i i i i i i i i
ADD ALTERNATE 1- PAVING & DRAINAGE ITE	MS													
(BELT LINE ROAD TO MCKENZIE ROAD)														
100 PREPARING RIGHT OF WAY	STA	15	\$1,045.00	\$15,675.00	\$7,500.00	\$112,500.00								
104 REMOVING CONC - PVMT INC CURB/DRVWAY 104 REMOVING CONCRETE - SIDEWALK	SY	1,100 150	\$4.15 \$5.15		\$4.04 \$5.05	\$4,444.00 \$757.50								
104 REMOVING CONCRETE-CURB & GUTTER	LF	600	\$2.35		\$2.27	\$1,362.00								
104 SAWED BREAKOUT GROOVE	LF	200	\$2.10		\$2.02	\$404.00								
105 REMOVE STAB. BASE &/OR ASPH. PVMT	SY	4,000	\$3.40		\$3.30	\$13,200.00								
110 EXCAVATION - ROADWAY & CHANNEL	CY	3,039	\$4.05		\$3.94	\$11,973.66								
132 EMBANKMENT-(TY B)(DENS CNTRL)(CL 3) 160 FURNISHING & PLACING TOPSOIL (4")	CY	3,235 5,000	\$1.30 \$1.25		\$1.26 \$0.76	\$4,076.10 \$3,800.00								
162 SODDING FOR EROS CNTRL (BLK SODDING)	SY	6,000	\$2.25		\$1.85	\$11,100.00								
164 SEEDING FOR EROS CNTRL (CEL FIB MLC SD) SY	2,000	\$0.70	\$1,400.00	\$0.31	\$620.00	\$0.35	5 \$700.00	\$0.40	\$800.00	\$0.50	\$1,000.00	\$0.40	\$800.00
170 IRRIGATION SYSTEM RELOCATION	ALW	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00								
247 FLEX BASE (TY A OR TYPE D)(GR 2)(CL III)(6")	SY	400	\$6.10		\$6.94	\$2,776.00								
260 LIME TRT SUBGRADE(6")(DENS. CNTRL) 260 LIME TRT SUBGRADE(8")(DENS. CNTRL)	SY	7,000	\$2.25 \$2.25		\$2.73 \$2.92	\$2,457.00 \$20,440.00								
260 LIME (TYPE A SLURRY)	TON	154	\$142.00			\$20,440.00								
340 HOT MIX ASPALTIC CONC PVMT (TY "B")	TON	100	\$93.00		\$80.50	\$8,050.00								
340 HOT MIX ASPALTIC CONC PVMT (TY "D")	TON	50	\$93.00		\$83.53	\$4,176.50								
360 CONC PVMT (10")(REINF, CLASS P)	SY	7,000	\$29.25		\$27.04	\$189,280.00								
360 CONC PVMT (6")(REINF. CLASS P) 360 CONC. PVMT REINFORCED STREET HEADER	SY	800 120	\$28.65 \$10.00		\$33.15 \$8.00	\$26,520.00 \$960.00								
360 CONC. PVMT REINFORCED STREET HEADER 360 CONC. UNDERCUT REINF STREET HEADER	LF	40	\$10.00	\$1,200.00	\$6.00	\$480.00								\$320.00
360 6" MONOLITHIC CONCRETE CURB	LF	2,500	\$1.00		\$1.00	\$2,500.00								
401 FLOWABLE FILL	CY	20	\$92.70	\$1,854.00	\$67.26	\$1,345.20	\$90.00	\$1,800.00	\$94.00	\$1,880.00	\$71.50	\$1,430.00	\$70.00	\$1,400.00
402 TRENCH EXCAVATION PROTECTION	LF	933	\$1.05			\$503.82								
420 CLASS "A" CONC (FLUME/APRON/MOW STRIF	, -	5	\$320.00		\$311.08	\$1,555.40								
423 RETAINING WALL (TYPE 6)	CY	10	\$765.00	\$7,650.00	\$454.50	\$4,545.00	\$475.00	\$4,750.00	\$350.00	\$3,500.00	\$670.00	\$6,700.00	\$500.00	\$5,000.00

Page 5 2011-005-5264.Pioneer.Bid Tab.LB

\$154,000.00

\$115,500.00

\$198,000.00

\$220,000.00

BID TAB

\$198,275.00

PROJECT: PIONEER ROAD MCIP PROJECT 21902 LIMITS: BELT LINE ROAD TO CARTWRIGHT ROAD

SUBTOTAL ADD ALT 2 - DECORATIVE BRIDGE RAILING

PROJECT MANAGER: JOHN L. MEARS, P.E.

BID: #2011-005-5264 DATE: 11/18/2010

PROJEC	T MANAGER: JOHN L. MEARS, P.E.														
			TIC	SEO PAVING CO		LACY CONSTRUC	TION	ED BELL CONST	PLICTION	REBCON INC.		AUSTIN BRIDGE	R DOAD	OMEGA CONSTR	ICTION
			110	SLO PAVING CO	•	LACT CONSTRUC	TION	ED BELL CONST	ROCTION	REBCON INC.		AUSTIN BRIDGE	X ROAD	OWLGA CONSTR	CHON
	DESCRIPTION	UNIT			EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
	REINF. CONC. PIPE, 21" DIAM. CLASS III	LF	62	\$65.15	\$4,039.30	\$38.81	\$2,406.22	\$63.25	\$3,921.5	0 \$66.00	\$4,092.00	\$30.25	\$1,875.50	\$41.00	\$2,542.00
	REINF. CONC. PIPE, 24" DIAM. CLASS III	LF	689	\$42.75	\$29,454.75										
	REINF. CONC. PIPE, 36" DIAM. CLASS III INLET COMPLETE, 12' RECESSED	LF EA	182	\$72.65 \$2,835.00	\$13,222.30 \$2,835.00										
	INLET COMPLETE, 12 RECESSED	EA	1	\$3,553.50	\$2,635.00										
	INLET COMPLETE, 20' RECESSED	EA	2	\$3,811.00	\$7,622.00										
	MANHOLE COMPLETE, TY "A", 3' X 3' DIA.	EA	2	\$2,266.00	\$4,532.00										
	MANHOLE COMPLETE, TY "B", 4' X 4' DIA.	EA	1	\$3,605.00	\$3,605.00										
	SAFETY END TRTMT (TY II)(36"(4:1)(CROSS)	EA	1	\$1,905.50	\$1,905.50										
	ADJUST MANHOLE TOP REMOVING OLD STRUCTURES - PIPE	EA LF	100	\$1,150.00 \$4.65	\$1,150.00 \$465.00										
	REMOV. OLD STRUCTSM (HDWLS/INLETS)	EA	3	\$465.00	\$1,395.00										
	BARRICADES, SIGNS & TRAFFIC HANDLING	MO	18	\$100.00	\$1,800.00										
	ELECTRONIC MESSAGE DISPLAY BOARD	DAY	100	\$1.00	\$100.00										
	CONSTRUCTING DETOURS (CLASS III)	SY	4,000	\$26.95	\$107,800.00										
	TEMPORARY DRAINAGE PIPE FOR DETOUR CONC TRAF BAR (PORT)(FURN,INSTL,& RMV)	LF LF	1,000	\$28.85 \$16.50	\$5,770.00 \$16,500.00										
	DRIVEWAYS (SURF TREAT((FLEX BASE)(6")	SY	100	\$6.10	\$610.00										
	DRIVEWAYS (CONC)(REINF)(6' THICK)	SY	100	\$35.45	\$3,545.00										
531	CONC SIDEWALKS (REINF)(4" THICK)	SY	100	\$27.30	\$2,730.00	\$31.30	\$3,130.00	\$29.00	\$2,900.0	0 \$24.00	\$2,400.00		\$3,100.00	\$37.00	\$3,700.00
	CONC. SIDEWALKS (REINF)(BAR FREE RMPS)		20	\$59.75	\$1,195.00										
	METAL BEAM GUARD FENCE (12" GAUGE)	LF EA	100	\$18.65 \$650.00	\$1,865.00										
	TERMINAL ANCHOR SECTION SINGLE GUARDRAIL TERMINAL (SGT-7)	EA	1	\$2,040.00	\$650.00 \$2,040.00										
	TEMP. CONSTRUCTION FENCE	LF	700	\$5.97	\$4,179.00										
	CHAIN LINK FENCE (8" HIGH) INC. GATES	LF	500	\$18.55	\$9,275.00										
	WIRE FENCE (METAL POST)(TY C)	LF	200	\$3.45	\$690.00										
	MAILBOX ASSEMBLIES ([PERMANENT)	EA	4	\$250.00	\$1,000.00										
	RELOC. LG ROUNDABOUT SIGN, COMPLETE WK ZN PVMT MRKGS (4" 1-WAY REF WHT BTN	EA \ EA	500	\$5,280.00 \$2.60	\$5,280.00 \$1,300.00										
	WK ZN PVMT MRKGS (4" 2-WAY REF YEL BTN)		1,000	\$2.60	\$2,600.00										
	REFL PVMT MRKGS (TY 2)(8")(WHT)(SOLID)	LF	135	\$1.05	\$141.75		1 - 1								
	REFL PVMT MRKGS (TY 2)(8")(WHT)(SOLID)	LF	135	\$0.35	\$47.25										
	REFL PVMT MRKGS (TY 1)(24)(WHT)(SOLID)	LF	50	\$5.15	\$257.50										
	REFL PVMT MRKGS (TY 2)(24")(WHT)(SOLID) RAISED PVMT MARKERS (CL B)(TY W)(4")	LF EA	200	\$2.10 \$2.60	\$105.00 \$520.00										
	RAISED PVMT MARKERS (CL B)(TY W)(4')		50	\$3.10	\$155.00										
	RAISED PVMT MARKERS (CL B)(TY Y)(4")	EA	100	\$2.60	\$260.00										
	RAISED PVMT MARKERS (CL B)(TY II-A-A)(4")	EA	300	\$3.10	\$930.00										
	INSTALL ROCK FILTER DAM (TY 4)	LF	30	\$20.60	\$618.00										
	REMOVE ROCK FILTER DAM (TY 4) INSTALL TEMP SED CNTRL FENCE W/PLS CPS	LF	1,500	\$4.15 \$1.20	\$124.50 \$1,800.00										
5920		LF	1,500	\$0.15	\$1,800.00										
5921		SY	200	\$9.30	\$1,860.00										
5921	REMOVE CONSTRUCTION EXITS(ROCK)(TY 1)	SY	200	\$0.65	\$130.00	\$0.61	\$122.00	\$6.00	\$1,200.0	0 \$6.10	\$1,220.00	\$1.00	\$200.00	\$4.00	\$800.00
	INSTALL INLET TEMP SEDIMENT CONTROLO	LF	200	\$2.15	\$430.00										
5922		LF	200	\$0.15	\$30.00										
	ADJUST WATER METER BOX ADJUST WATER VALVE STACK TOP	EA	2	\$206.00 \$257.50	\$412.00 \$515.00										
	ADJUST FIRE HYDRANT ELEVATION	EA	2	\$824.00	\$1,648.00										
SI.1	SITE INVESTIGATION FOR UTILITIES	EA	2	\$1,700.00	\$3,400.00	\$500.00	\$1,000.00	\$100.00	\$200.0	0 \$1,800.00	\$3,600.00	\$357.00	\$714.00	\$500.00	\$1,000.00
CC.1	CONCRETE CAP OVER DCWCID#6 30" W.L.	LF	120	\$46.35	\$5,562.00	\$62.03	\$7,443.60	\$45.00	\$5,400.0	0 \$48.00	\$5,760.00	\$46.00	\$5,520.00	\$200.00	\$24,000.00
-	SUBTOTAL ADD ALT 1 - PAVING & DRAINAGE I	TEMS			\$637,871.95	1	\$761,439.65		\$646,583.8	0	\$758,827.50	1	\$705,864.00	1	\$791,615.25
-	BELT LINE ROAD TO MCKENZIE ROAD)	LIVIO	+		φυσι,σι 1.95	'	φισι, 4 39.03	,	φ040,003.0		φ130,021.30	,	φι υσ,004.00	,	φι 31,013.25
		1													
	ADD ALTERNATE 2 - DECORATIVE BRIDGE RA	ILING)			·										
450	BRIDGE RAILING (MESQ PED BRIDGE RAIL)	LF	1,100	\$180.25	\$198,275.00	\$151.50	\$166,650.00	\$105.00	\$115,500.0	0 \$140.00	\$154,000.00	3180.00	\$198,000.00	\$200.00	\$220,000.00
450	DIVIDGE MAILING (MESQ FED BRIDGE RAIL)	LF	1,100	φ100.25	φ 190,∠ <i>1</i> 3.00	φ101.00	\$ 100,030.00	φ 105.00	\$110,000.0	φ 140.0t	φ15 4 ,000.00	\$100.00	\$ 190,000.00	φ200.00	φ∠∠υ,υυυ.υυ

\$166,650.00

Page 6 2011-005-5264.Pioneer.Bid Tab.LB

PROJECT: PIONEER ROAD MCIP PROJECT 21902 LIMITS: BELT LINE ROAD TO CARTWRIGHT ROAD BID: #2011-005-5264 DATE: 11/18/2010

PROJECT MANAGER: JOHN L. MEARS, P.E.

				TISEO PAVING CO	o.	LACY CONSTRUCTION		ED BELL CONSTRUCTION		REBCON INC.		AUSTIN BRIDGE & ROAD		OMEGA CONSTRUCTION	
ITEM	DESCRIPTION		QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
						ĺ			ĺ						
	SUBTOTAL SCHEDULE I-PAVING & DRAINAGE	ITEMS			\$8,293,173.30		\$8.392.631.18		\$9.054.569.70)	\$9.138.227.00		\$9.534.724.50		\$9.597.604.75
	(MCKENZIE ROAD TO CARTWRIGHT ROAD)				70,000,000		70,000,000		, , , , , , , , , , , , , , , , , , , ,		**,****		70,000,000		40,000,000
	SUBTOTAL SCHEDULE II - MESQUITE UTILITY I	TEMS			\$1,429,704.25		\$1,427,779.10		\$1,429,846.50	1	\$1,492,285.00		\$1,494,514.00		\$1,849,670.00
	SUBTOTAL ADD ALT 1 - PAVING & DRAINAGE IT	TEMS			\$637,871.95		\$761,439.65		\$646,583.80		\$758,827.50		\$705,864.00		\$791,615.25
	(BELT LINE ROAD TO MCRENZIE ROAD)														
	SUBTOTAL ADD ALT 2 - DECORATIVE BRIDGE I	RAILING			\$198,275.00		\$166,650.00		\$115,500.00		\$154,000.00		\$198,000.00		\$220,000.00
	TOTAL BASE BID WITHOUT PARTNERNG				\$9,722,877.55		\$9,820,410.28		\$10,484,416.20		\$10,633,512.00		\$11,933,102.50		\$12,458,890.00
599	PARTNERING WORKSHOP	LS	1	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$3,000.00	\$3,000.00	\$500.00	\$500.00	\$3,000.00	\$3,000.00
	TOTAL BASE BID WITH PARTNERING				\$9,723,377.55		\$9,821,910.28		\$10,484,916.20		\$10,633,512.00		\$11,029,738.50		\$11,450,274.75
	TOTAL BID W/ADD ALTERNATES & PARTNERIN	G			\$10,559,524.50		\$10,749,999.93		\$11,247,000.00		\$11,546,339.50		\$11,933,602.50		\$12,461,890.00
	*LACY CONSTRUCTION ADDED 0.07 CENTS TO	SUBTO	TALS												

BID TAB